A fE£ {A(651)

BEMNLZER (D+Q)
©) @ [9%]
% *x
® @ * 2
& 15 Y 1=
AR £ | E | ¥
H b5} < %) & |52 |57 |57
T T x T B 2 2 3
s (% * (X 8 9 0
ES x g F =3 =3 =3
? % pa b /i3 i3 E
7(-d:
Ly
Ly
1.2 RIZITLDAEHELLY, 153 | 277 156 64 650 70.6 | 68.7 66.2
2BERIEDHY T ATHN 87 361 160 43 651 66.0 | 73.6 68.8
AV
KX, FETESHE
At bk BT, 104 | 337 | 155 50 646 68.2 | 75.3 68.3
ABEFELSN B RERITHH
kB ASND, 148 | 263 | 155 83 649 62.3 | 68.7 63.3
65' FEDERITMGTE 84 253 | 190 | 124 | 651 65.7 | 67.0 51.8
6.IFEDHEIROITEAIZD
N2 B g2 201 | 307 | 107 34 649 732 | 804 78.3
7.585E1E. LEHIZDLNTHFA
-EARRE->TWAIENHN 164 | 302 | 118 65 649 78.2 71.8
[FE&|ZHIGL TN S,
8ERATE (REHR Xk
LERHRITEIIELATA | 129 | 281 153 87 650 67.1 | 71.1 63.1
BEO5I RSN TS,
QLERD KNS PHED IL—
JLI= AT 2 S i\ g5 2 167 | 339 | 108 36 650 672 | 77.0 77.8
HENRIS-HE. ES51T
LD kL. IS ST 178 | 304 | 123 46 651 72.7 | 80.6 74.0
LY = YT REDETE
RLBF LS (=, BB 117 | 291 152 91 651 62.8 | 66.9 62.7
W3,
67.6 73.4 67.8

k

o
=]

&t

-10

-15.2

0.9



14F (226)

BEEMLZER (D+Q)
©) @ (9]
5 *
@ @ + 2
e b
< 1 5 < RO ou E
%) H < %) & |57 5 B :[]
T T i+ T B 2 2 3 =3
1% =% * =% 8 9 0 |
*x *x 5 ES =3 F F tE
% % 2 5 E E E
fd:
LY
LY
1.Z2RIZITLDONELLY, 57 95 49 25 226 732 | 70.2 67.3 | —2.9
éf%ﬁﬁbbw)bt(ﬁbn 35 125 51 15 226 705 | 72.9 708 | -2.1
IEAEF,. 2ETEHIMNE _
AU fr ba TS, 31 110 59 25 225 700 | 74.6 62.7 |-11.9
ABELISMCE TR (CHEER _
CE B EAND. 41 71 67 45 224 524 | 61.0 50.0 [-11.0
%)5' FEDEEIIMBTE 20 78 70 58 226 66.4 | 655 43.4 |-22.1

L?.é%ﬁ%’%ﬁ;%—?’_to 63 | 105 | 42 | 14 | 224 | [ 656 | 755 | 750| -05
= o

1.5&E1E. LEHIZDLNTFA
= E->TWAIENH N 54 95 48 27 224
FES|ZHIGL TSNS,

8ERITE (AEHR -k
FEBEERITHIIRELATA 42 106 58 20 226 67.7 | 74.7 65.5 | 9.2
BES5IkEN TS,

71.2 66.5 [-10.7

9T D RKYUIETPHEDIL—
JUVIZDWTESEENH D,

10FR T, FH-BEPRKK
BREMNEIoFHE. ES1TE
LT=b kv, oS TLY

1. ZROEEXEE e

E-REES) (. BELEE
ALPTNESIZ, BiFSh T
Wa,

62 101 50 13 226 68.5 | 81.1 721 | -9.0

58 85 61 22 226 7.1 81.7 63.3 [-18.4

41 93 58 34 226 642 | 725 59.3 [-13.2

67.0 733 633



24 (217)

BEMNLER (D+Q)
©) @ (9]
5 *x
@ @ * 2
£ 15 U 1=
< 1 5 < RO ou E
& H < %) & |52 57 |57
T T * T B 2 2 3
1% =% * =% 8 9 0]
ES ES Z F =3 =3 &
% % 2 5 E E E
fd:
LY
LY
1.Z2RIZITLDONELLY, 53 88 58 17 216 68.4 | 654 65.3
2BEREOOYPLTLATON 24 121 59 13 217 62.4 | 70.9 66.8
AV
JEEIX. FETENNE
AU fr ba TS, 27 124 52 12 215 62.8 | 72.1 70.2
AFBELIS I RER(CHEER
CE B EAND. 48 97 54 18 217 60.6 | 68.9 66.8
%)5' FEDEEIIMBTE 25 94 64 34 217 616 | 67.1 54.8
6.1 KD ERRPITEAIZD
NCE % DD AN Z, 66 103 37 11 217 715 | 77.6 77.9
1.EEE,. LWEDHIZDNNTFA
= E->TWAIENH N 54 108 38 17 217 73.7 74.7
(XERIZIELTN S,
8ERITE (AEHR -k
FEBEERITHIIRELATA 51 85 46 34 216 644 | 72.8 63.0
BES5IkEN TS,
9D KRYITPHEDIL—
Ul TE S S 45 5 59 115 32 10 216 65.2 | 75.4 80.6
RENRIST-BE. E517
LB kL. KI5 ST 63 109 33 12 217 68.8 | 75.3 79.3
Hﬁigé%g igﬁ
=-AE VT BEDOAEE
RLBOF LS. BB 40 98 49 30 217 60.0 | 64.3 63.6
WA,
64.6 712 69.4

f

|
=

5 it

-1.9

-12.3

0.2

1.0

5.1

3.9



34F (208)

BEMNLER (D+Q)
©) @ (9]
5 ES
@ @ * e
& . c) Y =
< 1 5 < RO ou E
& H < %) & o7 |07 |57 :[]
T T i+ T B 2 2 3 =3
% (% * =S 8 9 0 E
ES * s ? F =3 & te
% % 2 5 E E E
fd:
Ly
Ly
1.ERITITLD D ZELLY, 43 94 49 22 208 702 | 705 659 | -4.6
éf%*'“’””bt(ﬁbh 28 115 50 15 208 649 | 76.8 68.8 | -8.0
JEEIX. FETENNE _
AUt B TS, 46 103 44 13 206 726 | 79.0 723 | -6.7
ABELISMCE TR (CHEER _
& BRAANG, 59 95 34 20 208 764 | 75.9 740 | -1.9
%)5' FEDERITMETE 39 | 81 | 56 | 32 | 208 | | 697 | 684 | 577|107

L?_é%%i%;%ﬁkgg‘%ﬁ(:o 72 99 28 9 208 846 | 878 | 822 -5.6
= o

1.5&E1E. LEHIZDLNTFA
= E->TWAIENH N 56 99 32 21 208
FES|ZHIGL TSNS,

8ERITE (AEHR -k
FEBEERITHIIRELATA 36 90 49 33 208 69.7 | 66.1 60.6 | -5.5
BES5IkEN TS,

83.5 745 | -9.0

9T D RKYUIETPHEDIL—
JUVIZDWTESEENH D,

TOZRC. B RO
REDRISIBE ., EFF7H
LBkl HI5EATLY

1. ZROEEXEE e

E-REES) X RXOLEE
LT LS. BEanc| 36 | 100 | 45 | 27 | 208 644 | 640 | 654 | 14

(A

46 123 26 13 208 68.1 74.5 813| 6.8

57 110 29 12 208 79.3 | 84.7 80.3 | -4.5

720 756 71.2



FERRELLER

24 (1 FE -2 F R F L ES) BFE(1E-2F-3FERELR)
BEEMLGER BEEMLZER (D+Q)
(D+2) [%] (%)
F £ | ¥
572 B 572
2 I 2 2 I
9 5% =[] 8 9 |57 :[]
3 3 3 F F 3 | &
& 0] & E E 0] E
—_ & Lt —~ — F Iud
1 3 1 2 E
F =3 F
1.2RIZITLDONELLY, 65.4| 653 -0.1 73.2 654 | 659| 05
2BEREOOYLTLATON 709 | 668 -4.1 70.5 709 | 688 -22
T3,
AL, 2ETEHIMNE _
HF e B TD. 721 | 702 1.9 70.0 721 | 723 02
AFBELACBRERIZAHEE :
CE B A ASND, 689 | 66.8 2.0 52.4 689 | 740| 52
%)5' FEOEEIIMBTE 671 | 548 -123 66.4 671 | 57.7| -9.4
6.JFFEDAEIRPITEHIZD
AT % B 2, 776 | 779 0.2 65.6 776 | 822| 46

1.5&E1E. LEHIZDLNTFA
=6 E->TWAIENH N 737 747 1.0
FES|ZHIGLTN S,

8EERITE (AEHR -k
FEBEERITHIIRELATA 728 | 630 -98 67.7 728 | 60.6 [-12.2
BES5IkEN TS,

73.7| 745] 08

9T D RKYUIETPHEDIL—
JLIZDWTESEENH D,

T0FRC. BF BRI
REBRISTBE, ES1TH)
Li=b &L, FI5EhTLY

1. FRONE(ERE-XE
=-FEEE)EBECEE| .| sa6
HLOTNESI, BigshT| '
W5,

754 80.6 5.1 68.5 7541 813]| 58

753 793 3.9 7.1 753 | 803 | 50

-0.7 64.2 643 | 654 1.1

71.2 69.4 67.0 712 71.2



{REEH (407)

BEMNLER (D+Q)
©) @ (9]
% *x
@ @ * 2
£ 15 U 1=
< 1 5 < RO ou E
& H < %) & |52 |07 |57
T T * T 5 2 2 3
1% =% * =% 8 9 0]
ES ES Z F =3 =3 &
% % 2 5 E E E
fd:
(A
Ly
1L FELHIIERIZTLDZEZE
LA LCNG. 88 221 90 7 406 843 | 79.7 | 76.1
2FELIL BEMNE LD
AT = TN, 39 218 | 135 11 403 66.4 | 686 | 63.8
JERIE. REB DI
IS LTI, 97 242 53 8 400 896 | 878 | 848
AERDEFIREDAHEIIE
HRCED. 87 207 90 19 403 859 | 826 | 73.0
5. BRI E D E IR AR E
BEITODVWCEYZIEES 137 | 229 38 2 406 90.1 | 91.4 | 90.1
THoTL3,
6.FIL. LEHIZDULNTF
EELMNE->TWWAIEABNIE] 72 237 67 12 388 828 | 79.6
BRlIcximL T,
1ERIZFELICEREKR
vIZF B0 E/)L—ILESE| 100 | 233 59 6 398 851 | 856 | 83.7
LREEZE TLS5ELTLNVS,
8RR DIEE Rl ILFE
BT G R CE D 64 227 | 100 12 403 749 | 754 | 722
O.CDERDERITE KB
R XMEE-RESEHF)IZS | 101 127 64 112 | 404 51.8 | 51.5 | 56.4
Lt=CEn®H B,
19'**"?'*“’"53@”*53% 53 196 | 109 36 394 619 | 642 | 63.2
Thb.
[—=F T3 === -
1LEAAR(E BEREBISOVT| o | 095 | g9 | 17 | 308 | | 800 | 789 | 734

REDZHZELTNS,

76.7 77.0 743

f

|
=

5 it

-1.3

-1.9

49

-1.0



# & (50)

BEMNLER (D+Q)
3 g (%]
>|le| 2|53
£ 15 U 1=
< 1 5 < RO ou E
%) H < %) & |52 57 |57 :[]
T T i+ T B 2 2 3 =3
1% =% * =% 8 9 0 E
*x *x 5 ES =3 =3 F tE
Z3) Z5) f D) E E E
¢ A
LY
Ly
1B FEIZ DT, 5
BTHEMIZZEELE-TL 21 26 2 1 50 742 | 804 | 940 | 136
B
2B REEMRICHI=HET
lZEITLN REEDQSTEICE | 11 31 7 1 50 60.7 | 674 | 840 | 16.6
MLTLVS,
3Hho ) AURER
UANT=-EFERBEFITHoTL 6 28 16 0 50 652 | 674 | 68.0 0.6
B
REZ NN T
i'g‘%’%ﬁfé‘glg)—gm’%%%%% 12 33 5 0 50 78.7 | 84.8 | 90.0 5.2
#{1oTLVB,
50,08 (FLWVEED) A
-_— - é;ik ~
,‘ﬂgﬁﬁéﬁi’??ﬁ?% 14 | 28 | 7 1 50 739 | 840 | 101
W3,
?ﬁ%ﬁmﬂﬁw*ﬁﬁé“ 15 28 7 0 50 640 | 696 | 86.0 | 16.4
THEFEIIEHIEELSNDH
BEELHERTHENTE 16 28 6 0 50 830 | 848 | 880 3.2
B
SERITEMNEFEIZEST
BAHBLDELBES. T 9 23 18 0 50 573 | 78.3 | 64.0 |-143
K-WEFITHOTLND,
OB RHICHELIFRIC
DINTHERE-REZ O~ | 11 28 11 0 50 76.4 | 609 | 78.0 | 17.1
DEMIZEBHTINVS,
1045 EDEREEHEEZ . AR
DIFERNE-BEHEIZDN | 11 26 12 1 50 719 | 804 | 740 | -6.4
TIXR-WEEITHOTLNS,

70.1 748 81.0



